Technical auto course

A —S>TAKATA Circuit %7 10/1

2022 60s CHAMPIONSHIP

5N - 18 2R 3B 48 58 6A 7A 88 98 108 11R 12H
1 saclys 121 18 15 15 15 18 25 15
2 RE 62 10 18 18 6 10
2 Wi FER 62 25 12 25
4 RH  FiF 45 25 10 10
5 h=—@iFkR 29 25 4
6 5K = 27 2 25
7 E —tE 25 25
7 kanta 25 25
7 b1 & S /N 25 25
7 NN X 25 1 12 12
7 TZH XE 25 10 15
12 WAKA 24 18 6
13 B KR— 21 15 6
14 H66 20 8 12
15 B0 FE 19 4 15
16 7ZYUFF 18 18
16 KEY  HE 18 12 6
16 ) 18 18
16 D2 e 74 18 18
16 A 18 18
21 Tomoaki 15 15
21 No>35& 15 15
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23 >—Izh 12 12

23 ([Cro—F T 12 12

23 DA 12 12

23 Hit R 12 12

23 ZwvF3 12 6 6

28 <BH 35 10 10

28 BPMNELL A 10 10

28 NSTzsh 10 10

28 0 10 10

32 == T = 8 8

32 =M BX 8 8

32 99 EGDB 8 8

32 THBE< A 8 8

32 (7 8 8

32 22V JT: W 8 8

32 TEE A 8 8

32 TR 25 8 8

40 Razz 6 6

40 PN B 6 6

40 ¥ XAl 6 6

43 Al B—BB 4 4

43 N A 4 4

43 N 4 4

43 = )LITw b Kouge 4 4

43 i 4 4

43 WWY=S 4 4
w1~ NFlll (HE5037 60.000~DEETER =1

H)
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43 -@ER 4 4

50 b 5= 2 2

50 L —\— 2 2

50 1] == 2 2

50 Z—F5 2 2

50 ASZS 2 2

50 g FEaR 2 2

50 Y98« AN 4% 2 2

50 cU 2 2
58 I PE 1 1

58 AHE = 1 1

58 2390 1 1

58 SN EEIN 1 1

58 ANCI=S 1 1

58 & 1 1

58 nEH 1 1

58 1F0-@FAA-57° 1 1
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